3.7UM(Multiplication)

W=
wmﬁwﬁmnﬂwm‘ﬁw*m'mwﬁﬁm
5T I g B 9 W 4| St e O vt e w4 g

WA AT - R R P dke R b P o 27

A A - sofiEE
e ~ g e A e R a7
EIL| - iz e

' .'.".‘ - - ! ____::_.." Fisrrer &



am - o e R e, P Y
mmm-: .': o =
x4 4 ’ =
| 2 0 a3 g 80 T AL
+ 8 o -— mw mmmmﬁa‘.}_tﬂ'!
T e fou o et et E |
oA - T BE A &) \
et AL R g :
oET - caE e SRR oed R 8
i g B e et o e A e fre e 2
A T e e -;
e A B 8 I
st v A 1o2s Fr } g
) T e R e T # 7 .
S i e A T 1 ) T
et fant mmﬁq:ﬁﬁ;ﬁ“ﬁm 1018 & 720 T B TGN
s el - 10215 % 720
Avaeh i m=réwssemdooww
T20 w100+ 20+ 0 D
T ARG & TID = 10MSRT00 + 10215 X F0 4+ 10218 x 0 T
= TiG0SO0 + 204300 + O

L
1

i 4

1, T

- raseano e _






eyt T T A T e e 2
H ABTEE X 100 = 100 X 467EG

. ﬁvﬂrmm1 i aqoee e g8 S AR R

$ sz 1 = e
Feall it Wi o w1 e AT F A
W ps D=0

2, wwE o — s

i & T H (50 TR ‘aﬁﬁﬁu‘fimﬁﬁ%%#mﬂmﬂuw
S & wEE W o e fite e e E T i
R & TR S W A T = 1500 i

e WA = R g
HEr A WA = 1890 % 107 ST

R A T
RN R
R R e
T4 1 3 F e—dEF 7 EE W 6e0 T
B o 9 @ 0 =—75%0TEE W0 W 40 g Ben
#1 5 5 @ @ & =—fm ddom oo e T G
i T S =

L -—wuﬂMWm*a‘mﬁmt

et o AT A T 1ona R A

VTR W




. Mﬂmﬂiwﬁ.‘w#mmm}mﬁ?#mﬁw#
o vk e ey o g A R s o
5 ad i 4 ol b et & T A B 290

1 T e A A s S - anar

5& arTn gk & T A ARt aE - a7« 293
'5_ a1 HE L W
5 ¥ e O O R
ey Ko gy
g' R
; 2 et Gl S R
44 HiE" A g
- T B

E:

T & wE wﬁ#mmmﬁwﬂﬁm

Y - Ll
o T A S B eere el A o e Een S e S
00 s WETRY T S O g s 3% e Bt fiem e
T A e v e e e
whﬂ-hﬁmﬁ?ﬁfﬁmhﬁﬁﬁﬂﬁﬂﬁ R =g S 7




=) e xpm (o) 0546 x 500 () m:m
) Aaang w102 M?&nﬂum Iﬂ} 10057 ¥ 466

ek e i B2518 T | IR b
e Wi o fheh eud d w2

. T e e # e A

@ agors it v 4w ¥ g
it Ha E 7 "

b qﬁwqmwwﬁmhﬁﬁﬂ
# a5 Pt & e e W R 7 !

e e A ST 11285 T A= @ e §)
il 12 g wmw A e

- e ot P 7




